ﬂé Rotating Around Axis

Name:

Rotate each shape. Answer asthe new coor dinates.

7

0 = Angle of Rotation |

Tar®

Rotation Formula ;

x1 = xxcos(0) - yxsin(B) ! '

y1 =xxsin(8) + yxcos(0)

In the example to the right the SN

shapeis at coordinates (1,4).
Letsfind the coordinatesif we
rotated the shape 60°.

\_

1. x1 = 1xcos(60) - 4xsin(60) N\
y1 = 1xsin(60) + 4xcos(60)

2.x1 =1x0.5 - 4x0.87
y1=1x0.87 + 4x0.5

3.x1=05-3.48
y1=0.87+2

4.x1=-2.98
yl=2.87

5. Looking at shape, we can see that

Answers

rotated 60° itisat (-2.98 , 2.87). /
J

1) Rotate the shape -53° around the point (0,0). 2) Rotate the shape 85° around the point (0,0).

3) Rotate the shape 166° around the point 4) Rotate the shape 49° around the point (0,0).

(0,0).
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ﬂé Rotating Around Axis Name. Answer Key

Rotate each shape. Answer asthe new coor dinates. Answers
_ 1.x1=1xcos(60) - 4xsin(60)
8 = Angle of Rotation Tl y1 = 1xsin(60) + 4xcos(60) 1. (-1.4,-0.2)
. & o 2.x1 = 1x0.5 - 4x0.87
Rotation Formula 7 _ -
x1 = xxcos(6) - yxsin(6) .’ : yl= 1087+ 403 2. _(74-44)
y1 = xxsin(B) + yxcos(8) : ’ 3.x1=05-3.48
9 2 yl=0.87+2 3. (-5.3,0.7)
I rs1h the e.xa;tnpletgltha(i ”gT Atrhe R 4 %1 =-208

apeisat coordinates (1,4). y1=287 s (L.2,7.7)

Lets find the coordinates if we
rotated the shape 60°.
\L

5. Looking at shape, we can see that

rotated 60° itisat (-2.98 , 2.87). /
J

1) Rotate the shape -53° around the point (0,0). 2) Rotate the shape 85° around the point (0,0).

Rl i (5’_7)
0l

_1.1_1)

PO

3) Rotate the shape 166° around the point 4) Rotate the shape 49° around the point (0,0).

(0,0).

(-5-6) @
)

é5,2)
@
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Rotating Around AXxis

Name:

Rotate each shape. Answer asthe new coor dinates.

7

0 = Angle of Rotation

Rotation Formula
x1 = xxcos(0) - yxsin(B)
y1 =xxsin(8) + yxcos(0)

In the example to the right the
shapeis at coordinates (1,4).
Letsfind the coordinatesif we
rotated the shape 60°.

\_

hat

1. x1 = 1xcos(60) - 4xsin(60) N\
y1 = 1xsin(60) + 4xcos(60)

2.x1 =1x0.5 - 4x0.87
y1=1x0.87 + 4x0.5

3.x1=05-3.48
y1=0.87+2

4.x1=-2.98
yl=2.87

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape -293° around the point

(0,0).

3) Rotate the shape -196° around the point

(0,0).

2) Rotate the shape -121° around the point

(0,0).

4) Rotate the shape 145° around the point

(0,0).

Answers
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7

Rotating Around Axis Name Answer Key
Rotate each shape. Answer asthe new coor dinates. Answers
_ 1.x1 = 1xcos(60) - 4xsin(60)
8 = Angle of Rotation e y1 = 1xsin(60) + 4xcos(60) 1 (0.34.5)
. & o 2.X1 = 1x0.5 - 4x0.87
Rotation Formula 7 : _ -

1 = xxCos(8) - yxsin(6) ; : y1=1x0.87 + 4x0.5 . (-8.2,2.1)

y1 = xxsin(B) + yxcos(8) : ’ 3.x1=05-3.48
T 2 y1=0.87+2 2 (1.1,34)

In the example to the right the A 4 x1=-208

shapeisat coordinates (1,4). y1=287 s (-8.9,2.3)

Lets find the coordinates if we
rotated the shape 60°.
\L

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape -293° around the point

(0,0).

)

3) Rotate the shape -196° around the point

2) Rotate the shape -121° around the point

(0,0).

] (66
@( )

4) Rotate the shape 145° around the point

(0,0). (0,0).
L (2B
6;7
&
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Rotating Around AXxis

Name:

Rotate each shape. Answer asthe new coor dinates.

7

0 = Angle of Rotation

Rotation Formula
x1 = xxcos(0) - yxsin(B)
y1 =xxsin(8) + yxcos(0)

In the example to the right the
shapeis at coordinates (1,4).
Letsfind the coordinatesif we
rotated the shape 60°.

\_

hat

1. x1 = 1xcos(60) - 4xsin(60) N\
y1 = 1xsin(60) + 4xcos(60)

2.x1 =1x0.5 - 4x0.87
y1=1x0.87 + 4x0.5

3.x1=05-3.48
y1=0.87+2

4.x1=-2.98
yl=2.87

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape -259° around the point

(0,0).

3) Rotate the shape -129° around the point

(0,0).

2) Rotate the shape -174° around the point

(0,0).

4) Rotate the shape -96° around the point

(0,0).

Answers

Math
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Rotating Around Axis Name Answer Key
Rotate each shape. Answer asthe new coor dinates. Answers
_ 1.x1=1xcos(60) - 4xsin(60)
8 = Angle of Rotation e y1 = 1xsin(60) + 4xcos(60) 1 (45,2.2)
. & o 2.x1 = 1x0.5 - 4x0.87
Rotation Formula 7 : _ -

1 = xxCos(8) - yxsin(6) ; : y1=1x0.87 + 4x0.5 ». (1.8,-2.2)

y1 = xxsin(B) + yxcos(8) : ’ 3.x1=0.5-3.48
9 2 yl=0.87+2 3. (4.85.2)

I rs1h the gxa;tnple tg.tha(i ”gT Atrhe R 4 %1 =-208

apeis at coordinates (1,4). y1=287 s (-7.7,6.2)

Lets find the coordinates if we
rotated the shape 60°.
\L

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape -259° around the point

(0,0).

3) Rotate the shape -129° around the point

2) Rotate the shape -174° around the point

(0,0).

-2)

4) Rotate the shape -96° around the point

(0,0). (0,0).
BE RN . (77
"""""" o s il
REECRTE
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Rotating Around AXxis

Name:

Rotate each shape. Answer asthe new coor dinates.

7

0 = Angle of Rotation

Rotation Formula
x1 = xxcos(0) - yxsin(B)
y1 =xxsin(8) + yxcos(0)

In the example to the right the
shapeis at coordinates (1,4).
Letsfind the coordinatesif we
rotated the shape 60°.

\_

hat

1.x1=1xcos(60) - 4xsin(60) |
y1 = 1xsin(60) + 4xcos(60)

2.x1 =1x0.5 - 4x0.87
y1=1x0.87 + 4x0.5

3.x1=05-3.48
y1=0.87+2

4.x1=-2.98
yl=2.87

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape 303° around the point

(0,0).

3) Rotate the shape 251° around the point

(0,0).

B

2) Rotate the shape -182° around the point

(0,0).

4) Rotate the shape 98° around the point (0,0).

Answers
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7

Rotating Around Axis Name Answer Key
Rotate each shape. Answer asthe new coor dinates. Answers
_ 1.x1=1xcos(60) - 4xsin(60)
8 = Angle of Rotation | ® y1 = 1xsin(60) + 4xcos(60) 1. (0.8,6.7)
. & o 2.X1 = 1x0.5 - 4x0.87
Rotation Formula 7 : _ -

1 = xxCos(8) - yxsin(6) ; : y1=1x0.87 + 4x0.5 >, (-7.2,5.8)

y1 = xxsin(B) + yxcos(8) : ’ 3.x1=05-3.48

N 7 y1=0.87+2 3 (-7,5)
In the example to the right the A 4 x1=-208

shapeisat coordinates (1,4). y1=287 s (-6.5,3.9)

Lets find the coordinates if we
rotated the shape 60°.
\L

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape 303° around the point

(0,0).

(6
o)

3)

3) Rotate the shape 251° around the point

2) Rotate the shape -182° around the point

(0.0)

»@x’

(Z6)

4) Rotate the shape 98° around the point (0,0).

(0,0).
s (15
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Rotating Around AXxis

Name:

Rotate each shape. Answer asthe new coor dinates.

7

0 = Angle of Rotation

Rotation Formula
x1 = xxcos(0) - yxsin(B)
y1 =xxsin(8) + yxcos(0)

In the example to the right the
shapeis at coordinates (1,4).
Letsfind the coordinatesif we
rotated the shape 60°.

\_

hat

1.x1=1xcos(60) - 4xsin(60) |
y1 = 1xsin(60) + 4xcos(60)

2.x1 =1x0.5 - 4x0.87
y1=1x0.87 + 4x0.5

3.x1=05-3.48
y1=0.87+2

4.x1=-2.98
yl=2.87

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape 161° around the point

(0,0).

3) Rotate the shape -201° around the point

(0,0).

2) Rotate the shape -234° around the point

(0,0).

4) Rotate the shape 195° around the point

(0,0).

Answers
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Rotating Around Axis Name Answer Key
Rotate each shape. Answer asthe new coor dinates. Answers
_ 1.x1=1xcos(60) - 4xsin(60)
8 = Angle of Rotation © y1 = 1xsin(60) + 4xcos(60) 1 (-3.4,-5.4)
. N o 2.X1 = 1x0.5 - 4x0.87
Rotation Formula : ~
1 = xxCos(8) - yxsin(6) : y1=1x0.87 + 4x0.5 >, (6.8,2.5)
y1 =xxsin(8) + yxcos(0) i 3.x1=05-3.48
7 y1=087+2 3 (26,-1.2)
I rs1h the gxa;tnple tg.tha(i ”gT Atrhe - 4 %1 =-208

apeis at coordinates (1,4). yl=287 4. (-1.5,-1.7)

Lets find the coordinates if we

rotated the shape 60°.
\_

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape 161° around the point

(0,0).

IS
~N

3) Rotate the shape -201° around the point

(0,0).

Math

2) Rotate the shape -234° around the point

(0,0).

4) Rotate the shape 195° around the point

(0,0).

(11'2)
18,
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Rotating Around AXxis

Name:

Rotate each shape. Answer asthe new coor dinates.

7

0 = Angle of Rotation

Rotation Formula
x1 = xxcos(0) - yxsin(B)
y1 =xxsin(8) + yxcos(0)

In the example to the right the
shapeis at coordinates (1,4).
Letsfind the coordinatesif we
rotated the shape 60°.

\_

hat

1.x1=1xcos(60) - 4xsin(60) |
y1 = 1xsin(60) + 4xcos(60)

2.x1 =1x0.5 - 4x0.87
y1=1x0.87 + 4x0.5

3.x1=05-3.48
y1=0.87+2

4.x1=-2.98
yl=2.87

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape 106° around the point

(0,0).

3) Rotate the shape -106° around the point

(0,0).

2) Rotate the shape 308° around the point

(0,0).

4) Rotate the shape -193° around the point

(0,0).

)

Answers
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7

Rotating Around Axis Name Answer Key
Rotate each shape. Answer asthe new coor dinates. Answers
_ 1.x1=1xcos(60) - 4xsin(60)
8 = Angle of Rotation e y1 = 1xsin(60) + 4xcos(60) 1. (-0.7,-6)
. & o 2.x1 = 1x0.5 - 4x0.87
Rotation Formula 7 : _
X1 = xxcos(8) - yxsn(e) j : y1=1x0.87 + 4x0.5 >, (0.5,7.2)
y1 = xxsin(B) + yxcos(8) : ’ 3.x1=0.5-3.48
9 2 yl=0.87+2 3. (-5.9,-4.8)
In the example to the right the S S & 4 x1=-208
shapeis at coordinates (1,4). yl=287 " (2_1,-4_6)

Lets find the coordinates if we
rotated the shape 60°.
\L

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape 106° around the point

(0,0).

6,-1
@( )

3) Rotate the shape -106° around the point

2) Rotate the shape 308° around the point

(0,0).

| (6-4)

4) Rotate the shape -193° around the point

(0,0). (0,0).
('?z_'_-)
A L9
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Rotating Around AXxis

Name:

Rotate each shape. Answer asthe new coor dinates.

7

0 = Angle of Rotation

Rotation Formula
x1 = xxcos(0) - yxsin(B)
y1 =xxsin(8) + yxcos(0)

In the example to the right the
shapeis at coordinates (1,4).
Letsfind the coordinatesif we
rotated the shape 60°.

\_

hat

1. x1 = 1xcos(60) - 4xsin(60) N\
y1 = 1xsin(60) + 4xcos(60)

2.x1 =1x0.5 - 4x0.87
y1=1x0.87 + 4x0.5

3.x1=05-3.48
y1=0.87+2

4.x1=-2.98
yl=2.87

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape 326° around the point

(0,0).

3) Rotate the shape -136° around the point

(0,0).

2) Rotate the shape 120° around the point

(0,0).

4) Rotate the shape 123° around the point

(0,0).

Answers
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7

Rotating Around Axis Name Answer Key
Rotate each shape. Answer asthe new coor dinates. Answers
_ 1.x1=1xcos(60) - 4xsin(60)
8 = Angle of Rotation Tl y1 = 1xsin(60) + 4xcos(60) 1. (4.7,-5.2)
. & o 2.X1 = 1x0.5 - 4x0.87
Rotation Formula 7 : _ -
x1 = xxcos(6) - yxsin(6) .’ : yl= 1087+ 403 2. (6.7-04)
y1 = xxsin(B) + yxcos(8) : ’ 3.x1=05-3.48
9 2 yl=0.87+2 3. (8.51.6)
In the example to the right the A 4 x1=-208
shapeisat coordinates (1,4). y1=287 4. (-0.8,-6.7)

Lets find the coordinates if we
rotated the shape 60°.
\L

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape 326° around the point

(0,0).

s

3) Rotate the shape -136° around the point

(0,0).

2) Rotate the shape 120° around the point

(0,0).

4) Rotate the shape 123° around the point

(0,0).

- 6,-3)
@l
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ﬂé Rotating Around Axis Name:

Rotate each shape. Answer asthe new coor dinates.

e _ 1.x1=1xcos(60) - 4xsin(60) |
0 = Angle of Rotation I : * y1 = 1xsin(60) + 4xcos(60)
Rotation Formula -‘ = 2 Xi i ﬁgg? fﬁigg
x1 = xxcos(b) - yxsin(6) : '. yL=20 -
y1 = xxsin(B) + yxcos(8) : ’ 3.x1=0.5-3.48
< 2 y1=087+2
Inthe e.xampleto.the right the ] 4.x1=-208
shapeis at coordinates (1,4). yl=287
Lets find the coordinates if we '
rotated the shape 60°. 5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
\_ j

1) Rotate the shape -124° around the point 2) Rotate the shape -131° around the point
(0,0). (0,0).

3) Rotate the shape 46° around the point (0,0). 4) Rotate the shape 64° around the point (0,0).

Answers
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Rotating Around Axis Name Answer Key
Rotate each shape. Answer asthe new coor dinates. Answers
_ 1.x1=1xcos(60) - 4xsin(60)
8 = Angle of Rotation e y1 = 1xsin(60) + 4xcos(60) 1. (0,-7.2)
. & o 2.x1 = 1x0.5 - 4x0.87
Rotation Formula 7 : _ _ _
X1 = xxcos(8) - yxsn(e) j : y1=1x0.87 + 4x0.5 . (-3.2,-5.4)
y1 = xxsin(B) + yxcos(8) : ’ 3.x1=0.5-3.48
< 7 y1=0.87+2 3. (-5.7,-2.7)
In the example to the right the S S & 4 x1=-208
shapeis at coordinates (1,4). yl=287 " (5_3,-4_ ]_)

Lets find the coordinates if we
rotated the shape 60°.
\L

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape -124° around the point

(0,0).

3) Rotate the shape 46° around the point (0,0). 4) Rotate the shape 64° around the point (0,0).

2) Rotate the shape -131° around the point

(0,0).

(-216)

63
é )
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Rotating Around AXxis

Name:

Rotate each shape. Answer asthe new coor dinates.

7

0 = Angle of Rotation

Rotation Formula
x1 = xxcos(0) - yxsin(B)
y1 =xxsin(8) + yxcos(0)

In the example to the right the
shapeis at coordinates (1,4).
Letsfind the coordinatesif we
rotated the shape 60°.

\_

hat

1. x1 = 1xcos(60) - 4xsin(60) N\
y1 = 1xsin(60) + 4xcos(60)

2.x1 =1x0.5 - 4x0.87
y1=1x0.87 + 4x0.5

3.x1=05-3.48
y1=0.87+2

4.x1=-2.98
yl=2.87

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape -79° around the point

(0,0).

3) Rotate the shape -160° around the point

(0,0).

2) Rotate the shape 156° around the point

(0,0).

4) Rotate the shape -33° around the point

(0,0).

Answers
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Rotating Around Axis Name Answer Key
Rotate each shape. Answer asthe new coor dinates. Answers
_ 1.x1=1xcos(60) - 4xsin(60)
8 = Angle of Rotation Tl y1 = 1xsin(60) + 4xcos(60) 1. (-2.8,6.7)
. & o 2.X1 = 1x0.5 - 4x0.87
Rotation Formula 7 : _ -
x1 = xxcos(6) - yxsin(6) .’ : yl= 1087+ 403 2. (1°72)
y1 = xxsin(B) + yxcos(8) : ’ 3.x1=05-3.48
9 2 yl=0.87+2 3. (2921)
I rs1h the gxa;tnple tg.tha(i ”gT Atrhe R 4 %1 =-208

apeis at coordinates (1,4). y1=287 s (-7.2,0.1)

Lets find the coordinates if we
rotated the shape 60°.
\L

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape -79° around the point

(0,0).

] (6-4)

3) Rotate the shape -160° around the point

(0,0).

2) Rotate the shape 156° around the point

(0,0).

(2,7

4) Rotate the shape -33° around the point

(0,0).
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www.CommonCoreSheets.com

9

14 |75]50|25| O



|

Rotating Around AXxis

Name:

Rotate each shape. Answer asthe new coor dinates.

7

0 = Angle of Rotation

Rotation Formula
x1 = xxcos(0) - yxsin(B)
y1 =xxsin(8) + yxcos(0)

In the example to the right the
shapeis at coordinates (1,4).
Letsfind the coordinatesif we
rotated the shape 60°.

\_

hat

1. x1 = 1xcos(60) - 4xsin(60) N\
y1 = 1xsin(60) + 4xcos(60)

2.x1 =1x0.5 - 4x0.87
y1=1x0.87 + 4x0.5

3.x1=05-3.48
y1=0.87+2

4.x1=-2.98
yl=2.87

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape -156° around the point

(0,0).

3) Rotate the shape 215° around the point

(0,0).

2) Rotate the shape 68° around the point (0,0).

4) Rotate the shape -135° around the point

(0,0).

Answers
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Rotating Around Axis Name Answer Key
Rotate each shape. Answer asthe new coor dinates. Answers
_ 1.x1=1xcos(60) - 4xsin(60)
8 = Angle of Rotation | © y1 = 1xsin(60) + 4xcos(60) 1 (3.8,6)
. & o 2.x1 = 1x0.5 - 4x0.87
Rotation Formula 7 : _ -
1 = xxCos(8) - yxsin(6) ; : y1=1x0.87 + 4x0.5 >, (0.6,-4.1)
y1 = xxsin(B) + yxcos(8) : ’ 3.x1=0.5-3.48
9 2 yl=0.87+2 3 (-4.7,2)
I rs1h the gxa;tnple tg.tha(i ”gT Atrhe R 4 %1 =-208

apeis at coordinates (1,4). y1=287 4 (0.7,2.1)

Lets find the coordinates if we
rotated the shape 60°.
\L

5. Looking at shape, we can see that
rotated 60° itisat (-2.98 , 2.87).
j

1) Rotate the shape -156° around the point

(0,0).

3) Rotate the shape 215° around the point

(0,0).

51

0l

2) Rotate the shape 68° around the point (0,0).

4) Rotate the shape -135° around the point

(0,0).

— 17
T
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